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7 100kN/m%z#Z5| 100|000 ~ 007 10098 |3m&E#EZB| — ~ — — — | 100kN/m#Z#8z25% | .00 | 1059 ~ 1076 100.98 |3m%EEBZ3 -~ — — —
s 1.00 | 0.07 ~ 7.85 100.00 | =nLst | 000 ~ 785 | 2.24 12.00 Thlst 1.00 | 6.00 ~ 10.59 100.00 | =nhLst | 6,00 ~ 1076 2.24 12.00
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 6.71 84.78 | #nS | 000 ~ 671 1.82 972 st 1.00 | 6.00 ~ 820 84.78 | =hLs | 5,00 ~ 820 1.82 972
3 100kN/mM%{8Z % — - ~ — — |3mZEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 0.00 ~ 574 71.72 | FhS (o000 ~ 574 1.73 9.24 st 1.00 | 6.00 ~ 6.40 71.72 | TS | 6,00 ~ 640 1.73 9.24
4 100kN/m%E#8z5| 1.00 | 000 ~ 303| 14819 |3m&E#Bz5| — ~ — — — | 100kN/m%#25% | 1.00 | 1090 ~ 2583| 14819 |3m&E#BZS -~ — — —
ZhLst 1.00 | 503 ~ 1081 100.00 | #hst | 000 ~ 1081 288 156.44 ZhLst 1.00 | 6.00 ~ 1090 100.00 | #nst | 6.00 ~ 2583| 2.88 15.44
5 100kN/m%z#Z5| 100|000 ~ 237 13697 |3m&E#EZB| — ~ — — — | 100kN/m%#8z25% | .00 | 1054 ~ 2062 156.97 |3m&EBZ5 -~ — — —
s 1.00 | 287 ~ 1015 100.00 | =nLst | 0.00 ~ 1015 2.36 12.61 Thst 1.00 | 6.00 ~ 1054 100.00 | =nLSt | 6.00 ~ 2062 2.36 12.61
P 100kN/m%z#Z5| 100|000 ~ 237 13697 |3m&E#Bz2B| — ~ — — — | 100kN/mi%#825 | 1.00 | 1054 ~ 2062 136.97 |3mEEZ5 - ~ — — —
s 1.00 | 287 ~ 1015 100.00 | #nLSt | 0.00 ~ 1015 2.69 14.58 Thst 1.00 | 6.00 ~ 1054 100.00 | =nLSt | 6.00 ~ 2062 2.69 14.38
7 100kN/m%E#8z5| 1.00 | 000 ~ 167 12562 |3m&EBzB| — ~ — — — | 100kN/mM%E# 25 | 1.00 | 11.62 ~ 20.71 125,62 |3m%E#BA5 - ~ — — —
Thilst 100|167 ~ 946 | 100.00| FhLS | 000 ~ 946 | 2.46 1319 ThLst 100 56.00 ~ 1162 100.00| FnLS | 5,00 ~ 20.71| 2.46 13.19
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
Thsn ~ ZFnLst ~ ZznLst ~ Zzhus ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




